Digitized by KMV|Callege Library, Jalandhar
P s
Exam. Code : 213103
Subject Code : 3950

M.A. Economics 3™ Semester
ECONOMICS OF DEVELOPMENT
Paper-MAE-301
Time Allowed—3 Hours] [Maximum Marks—lOO

Note :— Attempt five questions in all. Q. No. 1 is compulsory.
Rest of the four can be attempted by choosing
one question from each of four units. All questions
carry equal marks (20 marks).

1. Answer the following in brief :
() What is economic development R
(i) What is Human Development Index ?
(iii) What is Social Dualism ?
(iv) What is Take-off Stage ?
(v) What do you mean by Balanced Growth ?
(vi) Define Big Push.
(vii) What is Import Substitution ?
(\ﬁii) What are internal of capital formation ?
(ix) What is capital formation ?

(x) Give main assumptions of Solow's model.
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UNIT—I

(Punjabi Version)
82 : wfonf &8 UH yAs 9| YFs 399 1 SHH
31 Fdt 79 yFs I9x Glee 9° fex yms <t
9% &394 &9 | A9 YHST ¥ 59T (20 ¥i) ¥R
5|
1. fonsfsfuz @ Aftuz €39 e
@ wrafex feam & T ¢
(i) W3 feam meaE ot I ?
(i) AHTAX EZT= ot T ?
(iv) 2x-me ASH ot I ?
v) A3fes feam F 3ozt 32 T 7
(i) faar ym § ufggfas &9 |
(vﬁ)mma%zjw%?
(vii) Jrt fsgrs € »if3fox gz ot 96 ?
(x) Yt fegn= o T ? :
x) A& (Solow) ¥ H3® ¥if Hy Trgae’ €R|
gfse-1
wrafaa fearm § Wy gareet of 95 ? fenf3s ad|

3. nidfgx @0 © IIS-3HI H'3H € NMBIYSSHA
UdhyE a9 | '

2. What are the main obstacles to economic development ?
Elaborate.

3. Critically examine Harrod-Domar's model of economic
growth.

UNIT—II

4. Discuss Schumpeter's theory of development.

5. Explain the views of Ranis and Fei on dualistic growth.

UNIT—III

6. Explain in detail the Critical Minimum Effort Thesis.

7. Prove that agriculture is necessary but not sufficient for
economic growth.

UNIT—IV

8.  Explain in detail the role of capital formation in economic
development.

9. .Compare'and contrast the Import substitution and Export-led
strategies for their role in economic development.

o
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gfse-11
4. feam @ mnftes fauis & govr =91
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Exam. Code : 213103
Subject Code : 3951

M.A. Economics 3™ Semester
INTERNATIONAL ECONOMICS-I
Paper-MAE-302
Time Allowed—3 Hours] [Maximum Marks—100
Note :— Attempt five questions in all. Q. No. 1 is compulsory.

Rest of the four questions can be attempted by

choosing one question from each unit. All questions
- carry equal marks (20 marks).

1. Write short answers (each carrying 2 marks) and it is
compulsory.
@  Define absolute advantage.
(i) What is factor endowment theory ?
(iii) Define opportunity cost theory.
(iv) Define Rybczynski theorem.
(v) What is intra industry trade ?
(vi) Define net barter terms of trade.
(vii) Define Tariffs.

(ﬁﬁ) What do you mean by optimum tariff ?

(ix) What do you mean by secular deterioration

hypothesis ?
(x) Briefly discuss the impact of changes in tastes on
trade.
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UNIT—I

Critically discuss the comparative advantage theory of
international trade.

OR
Discuss the faétor price equalisation theorem.
UNIT—II
Critically discuss the Kravis theory of trade.
OR

Explain the role of changes in tastes and technology in
emergence of trade.

UNIT—III
Explain static and dynamic gains from trade and their
distribution.
OR

Write a detailed note on trade as an engine of economic
growth from the developing countries' point of view.

UNIT—IV
Discuss the political theory of non-tariff barriers and their
implications.
OR
Explain the general equilibrium analysis of tariffs.

(Punjabi Version)
Afantt f&8° R yms a9 YHS 399 1 FaH
31 It 879 YA I3 glee 78" f&a yms &F
¥ 9 J2 9| AY YHSG'T ¥ IIET nik
(20 ¥ix) TS|

mw 839 s (T3a yrs 2 2 vix) mi3 feg st

yrs I - '

@ FHyds Trfeer ufgeis 9|

(i) I9x M3SHT fEfedt &t T 7

(i) Ha € sz fa@dt § ufggfas ag|

(iv) IEEfare! (Rybezynski) fa@an & ufssfhs
il

) fE€eo Geviar =u9 &t I ?

(i) Tug € g% fefonm &t ma3t & ufesths
9|

(i) 2fag § ufesfhz ag|

(vii) A9e3H 2fde 3 3g3T ot 3= T ¢

(ix) Sowarfsx fagree grEtuEtfAr 3° 30737 o
ge 7

® =u9 Qus yfeast fo sE@= € yg< ¥3d
Aftuz 999 &9 |
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Exam. Code : 213103
Subject Code : = 3952

M.A. Economics 3™ Semester
INDIAN ECONOMY
Paper-MAE-303
Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt 10 short answers type questions which are
compulsory and attempt one long answer question
from each unit of Section B. Short answer questions
carry 2 marks and long answer type questions carry
20 marks each.

~ SECTION-A
1. Short answer type questions (All questions in this Section

are compulsory) :

(@) Discuss the limitations of National Income Estimates
in India.

(b) Explain the concept of Decentralised Planning in
Tndigs /¢

(c) What is the nature and magnitude of unemployment
in India ? ‘

(d) What were the achievements of 11* Five Year Plan ?

(¢) Examine the arguments in favour of Mechanisation
of agriculture in India. ’

() Define Agricultural Price Policy.

(2) Explain any three types of unemployment.

(h) Distinguish between private and public sector.
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@) - Distinguish between balance of current account and
balance of capital account.
() What are the achievements of WTO ?
" SECTION-B

Long Answer Type Questions (Attempt one question from
each unit)

UNIT—I
What do you mean by National Income ? Discuss the
methods for measuring National Income in India.
Discuss the achievements and failures of 10" Five Year
Plan.

UNIT—II
What is the extent of inequality in the distribution of income
and wealth in India ? State the main causes of inequality.
Explain the important measures taken by Government of
India to reduce poverty in Country. How far have these
measures been successful.

UNIT—III
Describe the main features of the new agriculture strategy
adopted in India since the mid 1960s. What were its effects ?
Explain the problem of subdivision and fragmentation of
land holdings in India. How far consolidation of holdings
can help to solve the problems ?

UNIT—I1V
Explain the growth and pattern of industrialisation with
special reference to post reform period.
"MNCs have done more harm than good to India's industrial
growth in the last ten years". Justify.
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(Punjabi Version)

32 :- A %W €39 yHs 9 7 X IwHt 95 i3 3ar

¥ 99a gfse 9 fea gow €39 yrs 9|
s 839 yrst 9 997 yas € 2 vid 96 i3
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() 93 ST fededlads wAsEer € udsT o
fonrfemr &9 |

(®) 3793 &9 ggnardt & yfgst w3 ufens ot

dJ6 1
(7) 11 J9 AT GAsT it yushet o 7S ?
(@) 393 9 B3tg=t ¥ u3dlades © Ia <9

THSHT T ydhHE a9 |

() g3tSt W 315t § ufgghs a9 |

(¥) Sguardt € for & 35 faput & fonrfir
|

@) yERe m3 usfex Raed fegara »izg AuRe
|

(W) T8 ¥3 T FBH »i3 Ut ¥ € I8 F fega9
ni3d AUAS I | :

(%) fere TuT Haes €t yushet &t g5 7
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Exam. Code : 213103
Subject Code : 3955

M.A. Economics 3" Semester
THEORY OF STATISTICS
Paper—MAEO-3
Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions, selecting at least ONE
question from each Section.

SECTION—A
I (a) State and prove Chebychev’s inequality.

(b) Derive two main properties of Gamma distribution.
10,10

II. " Define the normal distribution and derive its main properties.
20

SECTION—B
IIl. (a) Explain the main properties of a good estimator.

(b) Explain the main propérties and applications of
maximum likelihood estimators. 10,10

IV.  What is ‘t’ distribution ? Derive its main properties.
20

SECTION—C
V. (a) Discuss the procedure of testing a statistical hypothesis.
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(b) Two random samples were drawn from two normal
populations and their values are :

A : 66, 67, 75, 76, 82, 84, 88, 90, 92.
B : 64, 66, 74, 78,82, 85, 87, 92, 93, 95, ¥&
Test whether the two populations have the variance
at 5% level of significance.
[ The table value of ‘F’ at 5% level of significance
for V. = 10,.V, =838 3.36] 10,10
VL. (a) Intelligence test on two groups of boys and girls
gave the following results :
Mean S.D. Number

Girls 75 15 150

Boys 70 20 250
Is there a significant difference in the mean score
obtained by boys and girls ?

(b) Two hundred digits are chosen at random from a
set of tables. The frequencies of digits are :

Digit S Ve g O U0
Frequency : 18 19 23 21 1625 22 20 2118

Use Chi-square test to assess the correctness of the
hypothesis that the digits were distributed in equal
numbers in the tables from which they were chosen.
[The table value of Chi-square for 9 degrees of
freedom at 5% level of significance is 16.92]
10,10
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SECTION—D

VI1l. What are non-parametric tests ? Distinguish between
parametric and non-parametric tests. Give uses of non-
parametric tests. 20
VIIl.(a) A random sample of three models of scooters were
tested for the petrol mileage (the number of km. per

litre). Use Kruskal-Wallis test to determine if the

average mileage of the three models is same :
ModelA : 60 54 76 48 66 52 62 56
Model B : 62 58 52 48 70
Model C : 42 64 36 65 42 60 82

(b) Explain Wilcoxon’s signed rank test with the help of

an example. 10,10
(Punjabi Version)
32 : aéamfé?ﬁufé-ufzﬁaqﬂ?;ééza’a@
38 UH YAs 9|
ga—8
I (8) 989% (Chebychev) &t niaHasT ¢ fad il
Aes &9 |

(nf) g feAHfagns © & yu gz fedl 10,10

1. wézéq@fﬂ?a%»@fgnéguwgmm
20
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Fra—nf Q
. (8) f¥x dd wigHax € Hy e & fenrfonr
&9 |
(nf) ATHHH SEIGEIgs MACHCT € WY ISt
w3 yGar &t fenrfimr ad| 10,10
v, ‘@ 3t T 7 feme Wy gt g9 €A1 20
FI—F
V. (8) nigzr ufgasus & yiftmr & fedt '3 9397
9 |
(nf) & nirH niEEt 3° F IIH BHS BT AT M2
8Is" © H® U5

g . 66, 67, 75, 76, 82, 84, 88, 90, 92

HE 64 66,7478, 82. 89. 87, 92,93, 95,97
ydhuz &9 fa nmigent @ 5% A9EasT Uud
3 AR T : V,=10,V,=8 T 5% AESS

g9 3 F w288 HE 3.36 I 10,10
VI (8) 333 »3 &Ienft & € Ayat 3 gt iiftorr 3
Js f&g =3tA €3

Hs  WA.ET. 389
B3It 75 15 150
B33 70 20 250

ot IR M3 FFAT oI YU I3 HU
Aag f&g At ArgEd 3 I 7
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(m)mémﬁﬁé‘égﬁawzooﬁaa*§
gf‘fwﬁ]w|z€aa+e°raaﬁqfs”n°r%:
:E] e U R
=Hafert : 18 19 23 21 1625 22 20 21 15
Wéw?%ﬁzw@a@m,@am
m%ﬁa@mﬁnmﬁm
?i;faaufa‘s’aa?sm"raﬂﬁ—aawra%ﬂzﬁ

93 |
[9 éﬂmﬁxﬁa@—mﬁmé@m
3 50, g ®E 16.92 J1] 10,10

gaI—H
VH.?I—a—ﬁ-cmﬂzfaa'uaTusa‘raﬁ?ﬁanﬂzfaanf%
%—ﬂmﬂ?ﬁauﬁuﬁﬁw—dvﬁaﬁmaﬁl
%—Wuﬁuﬁﬁeﬁ%&n 20
VIH.(@)WH@@FMWQ%@@
%HW?WWW(@W
Wﬁﬁﬁw)@ﬂa—mmﬁeﬁ
aﬁ,fsaﬁammwfa,ﬁwm
énﬁzw@@ﬁm%;
JE® ® o 60 54 76 48 66 52 62 56
H3® ot : 62 58 52 48 70
WS% AT 42 64 36 65 42 60 82
(m)m@mﬁéﬂ? (signed rank test)
ﬁwﬁmmw?ﬁu
10,10
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Subject Code : 3957

M.A. Economics 3" Semester
INDUSTRIAL ECONOMICS
Paper—MAEO-5
Time Allowed—3 Hours] [Maximum Marks—100

Note :— This question paper contains a total of four sections.
Each section contains TWO questions. Out of the
total EIGHT questions, candidates are required to
attempt a total of FIVE questions selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A
1. What are internal economies of scale ? Discuss.

2. Which factors affect the location of an industry as per
Sargent Florence’s theory of industrial location ?
Elaborate.

SECTION—B

3. Mergers and acquisitions form an important aspect of
the market conduct. Discuss.

4. Explain the concept of efficiency and capacity utilization

in context with the Indian economy. How is efficiency
measured ?
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6.

SECTION—C

Explain the concept of privatization in context with the
Indian economy. What are the different forms of
privatization ?

Enlist and elaborate the issues faced in the process of
industrial proliferation.

SECTION—D
Explain the following with respect to project appraisal :
(a) Net Present Value (NPV)
(b) Internal Rate of Return (IRR).

What is the ‘Exit’ policy ? When and why is it brought
into practice in the industrial sector ?

(Punjabi Version)

82 : fom yHs U39 9 4% 979 391 i3 a2 oI5|

9% a1 {9 © yHs 951 o& nis yFst 9
udtfemraet o3a gmar RS we-we fex yms ot
9% 39T JT % UN yms a9 | Unet ymEs foan
<t 3797 99" 3T 7 Aaer 1 AS yEet @ nix
gIHI T5 |

gar—€
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Geufox A ¥ Aon'e eBIH ¢ AU nisHg
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). fe@tesT i3 wifgqoe Wgdle nwodgs © fEx
HI3=YTS Ufog 98¢ I&| 999" a4 |
4. 93T nigufecHE € Heas &9 gH®3T M3 AHIE
€ QuzasT & uger g9 fenrfimr &3 FESIT
fae wmft 77 maet 3 ?
IA—F
5. 333t nigafeenyr € Hegs f&v fSiags & aasr
g forrfimr &9
6. Gedfaa urrg & Yfafanr feg 8z =8 HAfan
& gotEg w3 ferfzz 9|
Fa—H
7. Ynde € HBaE © Huy feg 35 it & fenrfiprr
9
(8) 32 e vy (=)
() niegat facas 89 (MrEirana)
8. ‘niarfae’ &=t ot I ? Bedifox 839 feu frg &
n3 fa8 g st At I ?
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